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QUESTION 1

An information flow may NOT occur between which elements? 

A. packages 

B. instance specifications 

C. associations D. use cases 

D. classes 

Correct Answer: C 

 

QUESTION 2

In the exhibit, what does the protocol state machine in the diagram specify? 

A. Either condition C1 or condition C2 must be true before the associated classifier can be invoked. 

B. Both condition C1 or condition C2 must be true before the associated classifier can be invoked. 

C. Only behavioral features m1, m2, and m3 can be invoked on instances of the associated classifier. 

D. A client of the associated classifier must always first invoke behavioral feature m1. 

Correct Answer: D 

 

QUESTION 3

What does a Property become in the Deployment Nodes package? 

A. an artifact in an Execution Environment 

B. a deployment target, in all cases 
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C. a deployment target only if it is a node embedded inside a containing node 

D. an instance specification 

E. another property 

F. a containing node only if it is a node embedded inside a deployment target 

Correct Answer: C 

 

QUESTION 4

What is wrong in this deployment diagram exhibit? (Choose two) 

A. Icons are swapped. 

B. Interface on Order should point up. 

C. arrow should have a dashed line. 

D. arrowhead should be hollow. 

E. arrowhead should be solid. 

Correct Answer: AC 

 

QUESTION 5

What is an abstract type in OCL? 

A. Set 

B. Collection 
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C. Sequence 

D. Bag 

E. Integer 

Correct Answer: B 
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